SN o
HE: LMD AN (UBITTYT /LB HT)
SHel: orEDt el (9l 2
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
o 551 717,893 742,386 £24,493
OINE A (LBIBBHT/LBHT) 572,005 559,875 12,130
ohx e 22 208,405 196,275 2,130
A2l 58,910 59,736 £826
201 L2 Y| 5,810 9,736 £3,926
T 5,810 9,736 23,926
ooz 310
—sloja 22))
1,20020 * BAIZH * 302 * 1CH 310
Oxtera eyl 4,000
—s8se 2,000,0002 * 1CH 2,000
EEE 2,000,000 * 1CH 2,000
ON&REIS Y] 1,500
=R I 1,500,002 * 144 1,500
401 Al EHIL S THY| 49,100 50,000 A900
01 Al&H] 49,100 50,000 A900
OZUEE 0@ We4el 7,700
— el 5,000,000 * 14 5,000
02 &0 B2HX 2,000,000 *14] 2,000
— AR WEAIE OIMAX 200,000 * 14 200
—HEAHIAIL(MB) 8% 500,008 * 144 500
OSEAL 8D U PRATNL SHY2E BAF 21,400
~&D X2 &3 20,0008 = 142 17,040
—REAN L Y B TA
40,0002 * 109 4,360
OBA 21228 20,000
—NRA(1B), HFA URLE L ARETM
20,000,0002 * 14} 20,000
405 KHAHF S| 4,000 0 4,000
01 KA 2 EH St 4,000 0 4,000
Osloal ext 2 20,0002 * 2004 4,000
CEERE 4,862 4,730 132
101 2121t 1,832 1,750 8
VEIESEEPIETEPS 1,832 1,750 8
OstHe o1z 36,6408 * 1% * 502 1,832
206 T2t 1,490 1,440 50
01 HEHI 1,490 1,440 50
Oste RR0H 1,190
—3s 1,8602 * 1004 186
-] 1,6902 * 1502 254
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A HEH
M OtEH A (LS 3HEY /e H)
Bl otEE 22 (98
S .- 2.2 (3 SAlH . HAN 2 Al OH HEE ) =2k
— S AR 2,500% * 3004 750
OMEsEE =HE ZUH+E
5,0008 = 5& * 12& 300
307 2I2tol s 1,540 1,540 0
01 A2 H 22| 1,540 1,540 0
Oz F5Hl 15,0008 » 3% = 12& 540
O AL AL Zelbl 500,000 * 2+ 1,000
2ots |AZe 39,192 32,019 7,173
201 L EH2 A 39,192 32,019 7,173
02 s3=4Hl 39,192 32,019 7,173
OR2%s &les 68,0008 * 4265 » 128 30,672
Oeos =2t 50,000% = 4265 * 40/100 8,520
= EZHAY 19,211 13,560 5,651
101 el 24| 13,119 12,530 589
04 212 H22NSE = 13,119 12,530 589
Ozd & Mg SHIJ| A2
36,6409 « 298 » 282 « 33| 6,156
O=ES23Ag 22
36,640 = 109 « 73| 2,565
OMEHEYZ IHAENEZ FHEH 2
36,6408 = 2% = 30 2,199
OZ =3, & sadael, IC=HE
£ 36,6403 » 2% = 30 2,199
201 eS| 300 300 0
01 At 22l 300 300 0
OxZxd S FHIYXE 100,000& = 32 300
206 T = H 5,792 730 5,062
01 M= bl 5,792 730 5,062
OZZ ¥ =AX =422 320
—a &0l SHMAH 7 10,0008 * 105 100
—&lH ¢ Hz+7Y 5,000& * 10Z * 23] 100
—&AYEL FY 6,000% * 58 * 43| 120
ouxJIE sgs 7Y 1,860& = 200 4 372
OuxIIe 2 2,000& = 5004 100
OSHES SMAE OEd ZUR ATHALE
10,000& = 5002 5,000
F=QIXXI Jlet2 5t 86,230 86,230 0
204 A=t A 2,400 2,400 0
03 SEEFEHI 2,400 2,400 0
ONFEggsRd 100,000 * 2F * 128 2,400
301 LEHEA S 83,830 83,830 0
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A HEH
HE: OO A (UNDIHT/UBHET)
ol or™e ne e
l:‘}\ X xH Cte| (3 }\ C‘}\ o HAEZ A} OH X‘—-IL‘EL‘:— 2JF
058 -2l -tEesEds 79,690 79,690 0
oolg+=¢ 75,440
—Jlg=%  200,000& = 13 = 23H » 128 55,200
—&0= 200,000 * 23 = 239 9,200
—slol ALY
20,000& » 22| = 23&¥ = 128 11,040
ogta =4 25,0008 » 23| * 85¢& 4,250
10 HAIAHIE &= 4,140 4,140 0
OXNSgrEols S 5lo&AT S4
5,000& » 69% » 123 4,140
A2 FE ALY 363,600 363,600 0
A2 FRIEHO ALY 363,600 363,600 0
401 A& HIZ 2 CHYI 363,600 363,600 0
01 A& H 360,000 360,000 0
OaL72 FHEAAY 360,000,000 * 14! 360,000
03 A& 201 3,600 3,600 0
Oa2 FCIEHAUAIY Al
360,000,000& * 1/100 3,600
HHYSAJHI (OB ) (DIEHIIE) 145,888 182,511 36,623
I 2 48,856 90,634 AN41,778
ol eyl 48,856 90,634 N41,778
101 @12l 48,856 90,634 AN41,778
01 E= 48,856 45,100 3,756
OAlZeZ2R2+E
L0783 = 14 » 36AI12t » 123 48,856
=2 97,032 91,877 5,155
Jl=&H| 97,032 91,877 5,155
201 gEt=24Ed| 38,552 32,547 6,005
01 AtR2tel 27,224 26,034 1,190
O=SAMEX 2 13,000& * 148tA « 123 2,184
OE20AHl 5,000& = 34 « 14 » 123 2,520
Ogiteg 100,000& = 12& 1,200
O4Lm1E EM72HI 50,000& = 128 600
Ogd=+=d 13,300
—=2 30,000& * 1H = 250 7,500
-2 50,000& » 1&H » 116¥ 5,800
Ol =4t 6,580
—= Al =2l 500,000& + 1CH 500
— el =cl 100,000& = 4CH = 50/100 200
—=AD| EU 200,000& = 52 = 1CH 1,000
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SN o
M2 BHS S (L) (IIEHIIE)
2;]

&l Ié & (&9 ®M
SAN-ZH-SA(FA) - NFAY - BES O AF K gl/liafﬁ Hlw &2

—OZHEU(SH) 200,0008 * 53] = 4CH 4,000
—PC==2l 100,000& = 14CH * 20/100 280
—JIet Edl=2l 50,000& * 123 600
OJIE At 2teltl 5,000& = 14% » 123 840

02 S22 11,328 6,513 4,815
O332= ¥ WAl 11,328

—HIIQB(HALMEIZSH)

700,000 * 122 8,400
—SFNERES 110,000& * 23] 220
—RAYsSFAE 9,000& » 12& 108
—SHRERS 150,000 * 12& 1,800
—HIISEIAN =2 100,000& = 23| 200
—&5t+E 23 50,000& 123 600

202 04l 45,920 45,920 0

01 =Liodbl 3,920 3,920 0
O=U0id 70,0008 » 149 = 4« 3,920

02 X 42,000 42,000 0
O A0 250,000& = 148 » 123 42,000

203 ¥R F=&H| 10,160 10, 160 0

01 J[22d PR 6,600 6,600 0
OHE JI22HYSF=&Hl 6,600,0008 « 12 6,600

02 BRI R A 560 560 0
A=A 40,000& * 14Y 560

04 RFAN2EHRFEH 3,000 3,000 0
ORM2IYFZ=LH 250,000 * 122 3,000

204 MR =AY 2,400 2,400 0

01 A Mg HR=H 2,400 2,400 0
OXMGH R+ A 2,400
—HE 150,000& * 1989 = 128 1,800
—2HE 50,000& 1€ » 123 600
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